Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 1 - System of units Factors and Fraction

# uestion OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level
Q
1|What are the two classifications of system of British and Metric Gravitational and Fundamental and Metric and ST HT JUTET F & YFR P §2 feer 3t ARw ?{[W“ﬁw 3t i | #ifes 3k gcTeeT AR IR e C 1
units? non-gravitational derived International ) -
M2cd HYU
2|What are fundamental units? Length, Mass, Length, Mass, Time | Length, Mass, Area | Length, Pressure, =T A EGL G SHETT PrFFAT 2 TS, geTHAT SIS, SoTA, THA| oIS, gouA SIS, A, 3maae B 1
Volume Volume ’ ' ’ ' ' ’ ' '
3|What denotes letter ‘M' in MKS system? Mile Meter Millimeter Micron MKS Jomelr & 'M' 3787 &7 e2iiar &7 rer e AT FEHIT B 1
4[How many millimetres are there in 1 inch? 2.54 mm 25.4 mm 24.5 mm 2.45 mm 1 39 § fraer Feieex a1 &2 254 mm 254 mm 24.5 mm 2 45 mm B 1
7 What is thg improper fraction for the given 52 7 28 7 few 777 AT 3 ¥ v Hﬂfﬁ?—r 3791 52 28 7 A 1
mixed fraction - 3? —_— —_ g - 3 — —_ g -
8|Convert decimal 0.000659 to fraction? 659 659 659 659 0.000659 EHT =T T HILROT 659 659 659 659 D 1
1000 10000 100000 1000000 BT # dea? 1000 10000 100000 1000000
S|Simplify: '3 2 5 3 9 12 13 wWe - 3,2 5 12 13 Bl 2
4 5 20 — — N N 4 5 20 N - - A
10 10 10 10 10 10 10 10
10|Divide: 20 15 4 21 ,3 23 1T QfS- 20 15 5 21 23 23 D 2
31 62 3 3 2 3 31 62 3 3 2 3
11{What is the product of 0.003 x 0.5? 0.00015 0.0015 0.015 0.15 0.003 x 0.5 & UGS FT » 0.00015 0.0015 0.015 0.15 B 2
6.5 6.5
13|What is the length of each part is a copper wire 0.23 metre 0.25 metre 0.28 metre 0.29 metre e fordr 225 M ofd did & AR A 0.23 metre 0.25 metre 0.28 metre 0.29 metre B 2
900 SRS HEIT H leT S a TAh

of 225 metre long is cut into 900 equal parts?

$TIT T ofFaTs e gef?




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 2 - Square Root, Ratio and Proportion percentage

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1 |What is the square root of 529? 13 23 33 43 529 & FIHT T &2 13 23 33 43 B 1
2 [What is the square root of 0.0177? 0.001 0.0001 0.00001 0.000001 0.017 T FEeel T &2 0.001 0.13 0.00001 0.000001 B 1
3 |What is the definition of ratio? Relation of two Relation of two Equality between | Inequality between e 1 aRemsT 2 &2 U & RE Far |l veR # e | e sguet & dr | e sieguret & & A 1
quantities of the quantities of the two ratios two ratios
same kind different kind HETIT T FIYT AT &7 FIT HHATAT AT
4 |What is the ratio of 4 kg to 800 grams? 5:1 4:8 8:4 2:4 4 el 3T SOOWﬁEF’JTH?jW & 51 48 8: 4 24 A 1
o — -
7 [Convert 52% into fraction? u s 7 520 @ fBeeT & sefod? N 1 13 17 Cc 1
25 25 25 25 25 25 25 25
percentage?
Feford?
9 |What s the X value for X + 62 = 10?2 4 6 8 10 X2+ 6% = 10° & faw x AT F4T &2 4 6 8 10 c 2
10 \é\g(l)a;;s;the square root of decimal number 21.26 22.26 22.46 23.46 g HEAT 550.37 T FEHA FAT &2 21.26 2226 22.46 23.46 D 2
11 |What is the value of 8 + V18 — 242? 2.24 3.24 4.24 5.24 B8 + O18 - 202 FT AT T &2 224 324 4.24 524 C 2
12 |What is the side AB if AC = 10 cm and BC 8.cm 6 cm 5cm 4cm g AC = 10 ¥#Tr 3R BC = 6 @1 & 8 cm 6 cm 5 cm 4 cm A 2

=6 cm?

>
2
@
[WSCN2205Q12

ar AB ST &I AT &7 g7




13

What is the side BC if AC = 15 cm and AB

4 cm

8cm

10 cm

12 cm

o o g AC =15 3N IR AB=0 M g ar 4 cm 8 cm 10 cm 12 cm
=9.cm?
BC $[ST &l AT 4T §?
A B é
' 8
g
14 |What is the value of side ACif AB= 7 cm 8.2cm 8.6 cm 8.4cm 8.1cm g AB=7aM dikBC =53 T ar 8.2 cm 8.6 cm 8.4 cm 8.1 cm
and BC =5 cm?
$ISTT AC T ATl T g7
g
3
E
15 |What is the length L,, if total length (L) is 1.1 metre 1.25 metre 1.65 metre 1.75 metre IfE o e (L) 2.75 #fex 3R L1 L2 1.1 metre 1.25 metre 1.65 metre 1.75 metre
275 metreandL; :L,=2:37?
= 2: 3 §7c L2 T AT F7 gam ?
16 |How many days a mechanic takes to 20 days 22 days 24 days 26 days Ife ww HFfes a1 8 FAEAT v 3T 20 days 22 days 24 days 26 days
assemble 64 machines if he assembles 8
machines in 3 days? FA 3 T ooty & aF 37 64 FMT &7
IS Fe A et &t odrer?
17 |What will be the rpm of smaller gear if a 120 rpm 140 rpm 160 rpm 180 rpm I 180 A =umw arer =X 60 AT 120 rpm 140 rpm 160 rpm 180 rpm
180 mm dia meshes with 60 mm dia gear
and the bigger gear makes 60 rpm? 1 aret IR 9 ger gar & 3R &S
R 60 3MATH § gAAT g2ar ol
TR 1 ARATH F4T1 gram?
18 |What is the percentage of copper if the Cu 92% Cu 94% Cu 96% Cu 98% Ife FIfTeaT & dig &1 goT 42.3 Cu 92% Cu 94% Cu 96% Cu 98%
casting weight of copper 42.3 kg and tin
weight 2.7 kg? Treltamd 3T et &1 aoter 2.7 froiane &
27 a/@/ = sﬂo ar ae @ gfaera 4T gem?
e
19 A motor cycle tyre is sold for Rs 300/- what Rs 200 Rs 220 Rs 240 Rs 260 Ify T Aex TTSfAT TR 300 / - Rs 200 Rs 220 Rs 240 Rs 260
is the purchase price if 25% profit is added
to it. & 9T ST §,3) 30 25% oY glar §
ar @l & HoT 4T gl
20 |What is the decimal fraction of conversion 0.185 0.175 0.165 0.195 18.5% T EAUHIT HeeT H Fealy 2 0.185 0.175 0.165 0.195

of 18.5%7?




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 3 - Material Science

# Question OPT A OPT B OPTC OPT D Question OPT A OPT B OPTC OPTD Ans | Level
1 |Which one is non-metal? Mercury Graphite Brass Iron SIH W 3T Pl AT 82 . AT — eT B 1
2 |Which metal contains iron as a major Brass metal Bronze metal Zinc Ferrous metal (378 & Tohd oTq & YT A & &9 e St i e D 1
content? # ANeT 8T 87 Rk Rl i R
3 |What is the name of the metal which do Ferrous metals Non-ferrous metals Insulating metals | Non-Insulating metals |38 €Tq &l #TH &1 g oas e 6 e 3relE qTeF B 1
not contain iron? BT &2 ad Rl PeTelE U1 g arq
4 |Which one of the following properties is Fusibility Ductility Corrosion Structure fAeAfaf@d & @ @l a1 JoreA urg # TerfrTar Fear FeTRoT T B 1
the mechanical properties of metal? BIEC aor 872
5 |Which is brittle metal? Cast iron Steel Mild steel Alloy steel S ¥ IR T @il W g7 Fear o e A e By org geae | A 1
6 |Which mechanical property of a metal Ductility Malleability Hardness Toughness T @I Hied AT A3 01 Th e & S AT E T el - c 1
offers resistance to elastic deformation 39a0T H ogR A®qor & forw gfaeyr '
in a cutting tool? el AT 87
7 |Which property of material enables to Elasticity Plasticity Ductility Brittleness &g T i AN 01 (91 SR ok TURR SenTEa e - ST B 1
formation of permanent deformation fIEIOT & ST H F&TH giar 87 :
without fracture?
8 |Which property of metal has its power Malleability Tenacity Elasticity Plasticity T T el /T A0 Fof @ W [GFUT ITETgaLaT Tear TeITEaaT e C 1
of returning to its original shape after TUT 91 g TR aq9F A9y qaraer J ) )
the applied force is released? 3T T STHAT QT g2
9 |Which property of a metal possessed Conductivity Malleability Fusibility Tenacity =T A g T Ferar agor e a1g F arerFar smaTgatar ITSIET Tear C 1
by it melts when heat is applied? ‘
TRA A W g S g2
10 [Which alloy used in electric lamp as Cobalt Vanadium Tungsten Silicon g @ fha A arg &1 39T fagd ST ST SaTEeT e C 1
filament? Jod & fhedic # fhar amar g2
11 [What metals contained in brass alloy? Copper and Copper and lead Copper and zinc Copper and tin  [dideT  Hle-aleTal (A4 GTIIU Bl o2 aier 3R TegahfrEE arat 3 e arat 3 srean Sar 3 e C 1
aluminium
12 |Which cast iron cannot be welded? Grey cast iron White cast iron Malleable cast iron Nodular cast iron SAHT Pl Gordl NET & JeaidT AeT R Torat gt e orar olgT Rrear gorar olgT AMSER Toldl oNET B 1
frar ST @ehar 87
13 [Which metal cannot be forged? Alloy steel Mild steel Steel Cast iron AT ford HN Bloi3 (SITel) 76T e e SEa = I Tt aeT D 1
e ST gt 87
14 |Which metal is widely used for making Grey cast iron White cast iron Malleable cast iron Wrought iron AP HIIMN AT TS Tl b AU hd ER ol wieET The Toar T Reat corar ogr Ser A 1
casting of machinery parts? YT & A9 &9 & 394197 fFar Srar 82
15 |Which furnace is used to get pig iron Rever battery Electric furnace Blast furnace Cupola g IEF T T 3RRA S & [T Yot S safees odr o T C 1

from iron ore?

g o2 &1 IUAIT FIT ST §?




16 |What is the name of furnace to obtain Cupola Mild steel - Blast Steel - Rever battery | Alloy metal - Electric |g=gr ANET UTeT I F AT HqLY T FAT FOreT ATEes T - e - YaT i Tl e -
castiron? furnace furnace
AT g2 SAITEE Held gafaged Hetd
17 |What is the other name of low carbon Low alloy steel High alloy steel High speed steel Mild steel DT FET AT & EENT A T 30 F T T ST, | 3T ey T ST I3=a afy & goh T

steel?

18

What is the carbon percentage in
medium carbon steel?

0.05% to 0.15%

0.15% to 0.25%

0.25% to 0.5%

0.5% to 1.5%

AEIH Flaad T H FlaeT T YiaAqd
fhaeT &2

0.05% to 0.15%

0.15% to 0.25%

0.25% to 0.5%

0.5% to 1.5%

19

What is the carbon percentage in low
carbon steel?

0.02% to 0.03%

0.15% to 0.25%

0.25% to 0.50%

0.50% to 1.50%

7T e T H FlesT fohder gfaea
grar 87

0.02% to 0.03%

0.15% to 0.25%

0.25% to 0.50%

0.50% to 1.50%

20

What is the carbon percentage in high
carbon steel?

0.02% to 0.03%

0.15% to 0.25%

0.25% to 0.50%

0.50% to 1.50%

3T FleeT T H FlaeT fohdar wfaerd
grar g7

0.02% to 0.03%

0.15% to 0.25%

0.25% to 0.50%

0.50% to 1.50%

21 |What is the ore of aluminium? Hematite Mallatite Bauxite Lemonite TEHI T 3R 1T R L 1T Hemerse st AR
22 |Which property of a metal enables it by Ductility Malleability Hardness Brittleness T or BrEy F T g=ar maTgatar FAET TIEGI!
which it can be drawn out into wires ad T oq w i
under tension without rupture? R & ¥ A d=r ST gehdr 27
23 |Which among the following is an Copper Aluminium Silver Mica DeRg 7§ 9 i s FreTolh & Il Wﬁﬁ'ﬂﬂ Tréy FrFr
insulator?
24 |Which rubber is used as insulator for Butyl Hypalone Silicon Nitrite butadiene  [fatd Faer 3R AT a”T & faw SeTs FTsu AT ST SR
power cables and control wires? gegolc & ®9 H fhd & &1 39T X SI%e =R
fram Sar g7
25 |Which alloy steel is used to make Silicon steel Manganese steel Vanadium steel Cobalt steel Ty gy IS F v g @ g RAfF seaa Hreter T T s FeTeT ST
permanent magnets?
STATT T 39ANT FAT ST §2
26 |Which insulator is used in over head Mica Rubber P.vV.C Porcelain =T O FreTerR & 39T 3R 2
lines?
dsat # fRar Srar g2 Hrepr TR PV.C BlIREC
27 |Which insulating material is used for Porcelain PVC Bakelite Ebonite qa oo & v fhd gt A D Al SFaTse seTse
making switches? T 39T fohar SraT 82
28 |What is the name of the property of an Di-electric strength Specific resistance Mechanical strenth Non absorption ekt T Jg I0T T HE R . qu'aa'ﬂH aferse gfaRer T GrEeS AT ygvoT
insulator that should brake down or drecsl & 3o W g S a1fgu A1 9= .
puncture on application of high voltage? glaT =mfgu?
29 [Which alloy steel is using for make Silicon steel Manganese steel Invar steel Vanadium g % gTqTa FT1 39AT ST R seard oo seara S=aR ST Ry
precious instrument? 3UFIOT T & foIw foRar Srar g2
30 [Which steel is used for making files and | Low carbon steel | Medium carbon steel [ High carbon steel Stainless steel ~ [¥Y 3R Hles Sell T & T T T T TEIH ST T T T T T e

cold chisel?

TEST T 3YAET fRAT ST &2




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 4 - Mass, Weight and Density

# Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level
1|What is termed as the quantity of matter Density Volume Mass Specific gravity ~ [a¥d & e ward @ AT @ FAT Fel TeTeT ITrae e R T8 C 1
contained in a body? ST &7
2|What is the force with which a body is Mass Weight Volume Density dg P AT 91 ¢ ToIh HRUT HIg HY FouHIe - 3T S B 1
attracted by the earth towards its centre? RAT & g T 3R ATHRNT gl &2 ¢
3|What is called mass per unit volume of a Mass Weight Density Volume el Jerd & g Ufd ST AT AT T TeeT T C 1
substances? FIAT Fgd 87
4|What is called the ratio between the Density Specific gravity Mass Weight TR Terd & Telcg 3R 4°C W 96l & efed R TEed oA - B 1
density of a substance and density of "elcd & A1 & U FAT FFelrdl g7
water at 4°C?
5|What is the density of aluminium? 2.7 glem® 3.7 glem® 4.7 g/em® 5.7 glcm® TogHIIgH &1 Gelcd el 81T 8?2 2.7 glem’ 3.7 glem’® 4.7 glem?® 5.7 glem’ A 1
6|Wha is the mass if the density of a body is 190 grams 200 grams 210 grams 220 grams Ife T s FT Usica 7.6 AH /A3 § 190 grams 200 grams 210 grams 220 grams A 1
7.6 g/cm® and its volume is 25 cm>? AR gHI AT 25 A3 § @ gEhAT
SSTATT Tohaa Eﬁ?"'?
7|What is the specific gravity of the solid, if 18.0 18.5 19.0 195 Ife 31 &I Uefcd 19.5 I / W3 & o 18.0 185 19.0 19.5 D[ 1
density of the solid is 19.5 g/cm®? 3 @l fafrse a[%ca e gem 8,2
8|What is the density (p) in g/cm® of an iron 6.6 g/cm® 6.9 g/cm® 7.2 glem® 7.5 glem® U olg o O] P "elcd(r) g/ cm3 H 6.6 gicm® 6.9 glcm® 7.2 glem® 7.5 glem® D 2
cube, if it weighs (W) 4.8 kg and volume fohcrelr g afe  saer SIR(W) 4.8 fehellame
(V) is 640 cm?? 3R 3MIIA(V) 640 cm3 §?
9|What is the volume (V) of mercury in cm®, 73.53 cm® 73.43 cm® 73.33cm® 73.23 cm® afe 9RT 1 geAT (m) Lfham & AR 73.53 cm® 73.43 cm?® 73.33 cm® 73.23 cm?® A 2
if mass (m) of mercury is 1 kg and density "eAcd (1) 13.6 g/ cm3 § d 9N & 3T
(0) is 13.6 glcm®? (V) @ "3 # foberetr grem?
10{What is the mass in gram, if a force of 15 9 grams 8 grams 7 grams 6 grams 39X 15 8151 T Teh &l Th ol 'm' W 9 grams 8 grams 7 grams 6 grams D 2
dynes acting on a mass 'm' producing an e 25 THY [ sec2 & Teh a0l 3cdigeT
acceleration of 2.5 cm/sec?? T, I A g3 YA W g2
11|What is the specific gravity of the metal, if 6 10 15 25 a1 &1 fafse a[&ca a1 g, afe arqg 6 10 15 o5 A 2
the piece of metal weighs 150 grams in air TS I AR gaT #H 150 I1H 3R 9=y
and 125 grams in water? 125 1A g2
12|what is the volume of mercury in cm?®, if 136 cm® 13.6 cm’ 10.6 cm® 10.0 cm® I ORT &1 geFA (M) 136 AH & IR 136 cm?® 13.6 cm® 10.6 cm® 10.0 cm® D 2

the mass (m) of mercury is 136 grams (g)
and density (p) of mercury is 13.6 g/cm3?

9RT & gedcd (r) 13.6 g/ cm3 § d IR &7
ITATT AN A FIT g2
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What is the block weighs (W) in kg, if

2.948 kg

2.848 kg

2.648 kg

2.448 kg

&F 910 st o1 AR Thellame & 1 gen

3 2.948 kg 2.848 kg 2.648 kg 2.448 kg
volume (V) is 320 cm” and density 8.9 e 3Gt 3maae (V) 320 6 3R T
glem®?
8.9 IMH / A" §?
14|What is the specific gravity of the metal, if 6.166 3.166 2.166 1.166 gfe a1 T R 6.5 fohelame gar & 6.166 3166 2166 1166
the weighs 6.5 kgf in air and 3.5 kgf in 35 qeft A/ g dr g @ fafdse
water? I[Ecd FIT IEM?
15|What is the weight force of a car has a 7848 Newton 7748 Newton 7847 Newton 7487 Newton Teh R & AR I 800 fohall FI gedd T

mass of 800 kg?(Take g = 9.81m/sec)

BT §7 (3 St =9.81 #Y| / AF3)

7848 Newton

7748 Newton

7847 Newton

7487 Newton




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 5 - Speed and Velocity, Work, Power and Energy

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1|What is the formula for speed? Distance Change in Distance in definite Change in T @ T T s Ta s E@RTH’J 377 F IR/ HT ARaa e & @39 & oRedqamag| A 1
covered/Time velocity/Time direction /Time momentum/Time
RAVRSEaE:
2|What is the unit of speed? Metre/second Metre/second? Metre/minute Metre/hour AT T S FAT L2 Ao/ davs Heg/dave? He/fAae Hreg/ave A 1
3|What is the formula for velocity? Distance Distance in definite Change in Change of 9T FT T F Y, Ta s E;?HHTFI?I AfPTa e & 37 & WRET /gy |99 F sRadargaa| B 1
covered/Time direction/Time velocity/Time momentum/Time
CRURSER R
4{What is the unit for velocity? Metre/second Metre/second? Metre/minute Metre/hour 397 B gFS FAT L2 He/qFvs Hredave? ey e Heygoe A 1
5[What is called if a body posses only Speed Velocity Vector quantity Scalar quantity &g aeg & qREATT a1 TEe @ & Iy & gfeer ol feer afer D 1
magnitude or size alone? ) '
3T FAT FEd 87
6(What is called if a body posses both Speed Velocity Vector quantity Scalar quantity afx aeg #F ofamoTr 3R 397 et & ar Iy & gieer ol feer afer C 1
magnitude and direction of velocity? '
3T AT Hgl AT &2
7(What is the rate of change of Body at rest Body at motion Speed Velocity ey aeg F e & gRadeT 7 &7 aeg & T F aeg & afy & @ Iy 39T D 1
displacement of a body?
FaT &2 Gl
8(What is called if a body does not change Body at motion Body at rest Speed Velocity I A aeg 39 oR¥Y & gey A& aeg & afy F Qe TEg & T & Iy T B 1
its position with respect to its
surroundings? 39 RYfa & 7T seorar g, af 39 g
FIT el ST g7
9(What is called if a body changes its Body at rest Body at motion Speed Velocity Iy A aeg 39y oAy F gay & aeg & T & aeg & afy & e Iy T B 1
position with respect to its surroundings?
A R & dgerdr §, dr 38 & g
Fgl ST &7
10{What is velocity of a body travels a 6 m/sec 8 m/sec 10 m/sec 12 m/sec 39 a&q @l 9T FT BT & S 21 6 Hr/awvE 8 . /AwvE 10 #Hr./A%vE 12 #Hr. /A% B 1
distance of 168 metres in a line in 21 '
seconds? QHUs FH TH @1 #H 168 Hel HI gt
qg T g2
11|What is the speed of a train of 80 metre 30 km/hour 32 km/hour 34 km/hour 36 km/hour T 80 Hiex oY & & ;MY AT g9 30 fef/goe 32 fRegue 34 TRegoe 36 fRef/gue D 2
long train passes a railway station h ’
platform of 120 metres length in 20 ST 20 QFUE H 120 IS Solehid O
seconds?
SRCAT 82
12(What is the f la f leration? B 1
at is the formula for acceleration _v+u . v - u V2_u2 5 5 W%%@F}'\H«T&T%? a:V+u . v —u V2_u2 5 5

vV +u

vV +u




13|What is the unit of acceleration of an Metre/second Metre/second? Metre/minutes Metre/minutes? ey aeg & ROT B FHFS FAT L2 He/qFvs Hredava? ey e HreyFae?
object?
14|What is the acceleration of a car if the 0.059 m/sec? 0.59 m/sec? 0.069 m/sec? 0.69 m/sec? Teh ®R I caluT T gl g, TG PR 0.059 #H/A=Ho? 0.59 H/aHUL 0.069 #H/A=H0? 0.69 H/aF
speed of the car has increased from 25 #Fr afa v Aae &7 25 e gfa goe ' ' ' '
km per hour to 40 km per hour in one T Fga 40 fraT ufa gue g S g2
minute?
15|What is the retardation of a car moving 0.40 m/sec? 0.30 m/sec? 0.20 m/sec? 0.10 m/sec? 50 Tehefl/guer & 39T | el dTell FR 0.40 H/AFHU? 0.30 H/AFHs? 0.20 H/AFu=2 0.10 #H/AHu=?
with a velocity of 50 km/hr is brought to FT 45 ehUs A TIHH &F o1 dm e g,
rest in 45 seconds? ar 3T FHed FIAT §?
16|What is the acceleration of an aeroplane 8 metre/sec2 10 metre/secz 12 metre/sec2 14 metre/sec2 ﬁﬁ?ﬂT CI; ] @f EEIG) 341'?1 EITFT E'a'l'é' 8 WIWZ 10 a;ha/ﬂa;ugz 12 ;ha/@q;ugz 14 ;:ﬁa/@q;ugz
taking off from landing field has to run STETST T cauT &7 8T &, Ifg ar eh-
700 metres if it leaves the ground in 10 37 & foIw 700 #Hex H gfr 10 dhvs
seconds from the start? H d¥ o W FTHT BT ST g2
17|What maximum height a stone will reach 10m 20 m 30m 40 m Y TR &1 Thad Fars T gem, 10 = 20 Hr 30 #r 20 #
if it is thrown upwords with a velocity of Ify 3 20 HeydHvE (g = lOm/secz)
20m/sec?(g = 10m/sec?)
& AT H FR FT 3R Hepr FT?
18|What is the work done in unit time? Energy Power Force Acceleration Teh S5 THYT H AT IT A T - - - =RoT
g &2
19|What is the capacity of a body to do work Energy Power Acceleration Force el a&g T FR FIA BT 4T R i T =T -
is called? FAT Fgd 272
20|What is the ratio of power output to Work Energy Efficiency Acceleration o 3A13cgce EIIES] 39T 1 FIF Tl ZeTar =T
power input? AT AT BT 7
21|What is called if a force of 1Newton acts 1 Joule 10 Joules 1 dyne 10 dynes I T #gTA H g fhar R & e 10 3[er 1 e 10 1St
on a body and moves it through a T & IR 3 v Hiex gl ah K kS
distance of 1 metre? Tardr () §, O 38 F1 Fga 82
22|How many ergs for 1 Joule? ]_03 ergs ]_05 ergs 107 ergs 109 ergs 1 GL(_“I 33 ﬁ‘mﬁ m E)'ﬁ %’7 103 m 105 m 107 m 109 m
23|How many newtons for 1 kilogram? 981 Newtons 98.1 Newtons 9.81 Newtons 0.981 Newtons 1 ToheltamdA H fohdel 742 81d o7 981 #ge 98.1 e 9.81 =qe 0.981 #g&sT
24|How many watts for 1 horse power in 725.5 watts 735.5 watts 745.5 watts 755.5 watts #Afcw BT A 1 819 9raX H fohdal 725.5 arew 735.5 areq 7455 areq 7555 areq

metric system?

areH gld 82




25

How many watts for 1 horse power in

726 watts

736 watts

746 watts

756 watts

" fafeer e &, 1 819 TR & fhder 726 acH 736 arcq 746 arcd 756 acH
British system?
26|What is the equvalent unit for 1horse 75 kg.m/sec 76 kg.m/sec 77 kg.m/sec 78 kg.m/sec A Brem & v g ISR 75 I H/dsve 76 fFar. /asvs 77 fFar.aawvs 78 I AT
power in metric system? )
TAGET ST FAT g2
27|What is the formula for potential energy? mgh joule mgh? joule 1/2 mgh joule 2/3 mgh joule eAfasr 3ot & T T 7, mgh & mgh? Gl 1/2 mgh & 2/3 mgh &
28|What is the formula for kinetic energy? 1/2 mv joule 1/2 mv? joule 2/3 mV? joule 2/3 mv joule AT FaT &7 GT FAT 2 12 mv & 1/2 mv2 =Gl 2/3 mv2 et 2/3 mv e

29

How much work done in one hour, if a
pump can raise 100 liters of water
through a height of 200 meters in one
minutes?

12 x 10* kg meter

12 x 10° kg meter

12 x 10° kg meter

12 x 10" kg meter

T 99 T [Hec H 200 HeX FHT A5
& ATETA ¥ 100 e gl ger ehaT &
ar T "¢ H g ST Far Sirar g2

12 x 10* kg meter

12 x 10° kg meter

12 x 10° kg meter

12 x 10" kg meter

30|What is the work done, if a force of 250 3720 Joules 3730 Joules 3740 Joules 3750 Joules Ifg 250 g2 g & fohar W F 3720 S 3730 S[e 3740 S 3750 e
newtons acted upon a body and the body FT § 3R aEqd 15 Hiex &r GED
has been moved through a distance of 15 ToIc &, o frdar FF 8T 872
metres?

31|What is the potential energy, if a body of 72.57 KJ 73.57 KJ 74.57 KJ 75.57 KJ Iie 250 fohall geddlTel 1 Tsh & 30 7257 KJ 73.57 KJ 7457 KJ 7557 KJ
mass 250 kg is at a height of 30 metre? HeX A Fa$ W} g, O afas Far

fohdell gidT 82

32|What is the potential energy in a body of 1942 Joules 1952 Joules 1962 Joules 1972 Joules gfe 250 fév?JT GSTAT I Th a&q 20 1942 & 1952 S[ef 1962 S[e 1972 S
mass 10 kg kept on the top of a pole 20 X A 38 F AT & FR QT AT
metres height? g ar RS FaT fhaer grei?

33|What is the work done in joules if a load 639 Joules 649 Joules 659 Joules 669 Joules gie fohell 15.5 foham & 81X 1 4.4 Al 639 ST 649 & 659 e 669 &
of 15.5 kg is lifted through a height of 4.4 318 dh 30T AT &, af o # fordar
metres? T gar 8§72

34|What is the kinetic energy of a bullet of 620 Joules 625 Joules 630 Joules 635 Joules Teh 5 UTH GeIATT & geolc St 500 620 ST 625 ST 630 ST 635 ST

@.

mass 5gm travels with a speed of 500
m/sec?




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 6 - Heat and Temperature and Pressure

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1|Which refers the temperature? Itis a form of energy | It tells the state of It tells specifie heat It is measured by ATTHATT FT FAT TedTd FaT &7 qE Foll FT TF &7 qg FSAT T g Bt uer A |TE T ey HAex B 1
heat of substance calorie meter
4 Foer SR § | I @ PfEe | gaRn A o §
FAT ¢
2|What is the S.1 unit of heat? Calorie Joule Centigrade heat unit | British thermal unit |zsqr &y TH.IE, SHS FAT &2 Frdr Gl FEE Fwar =S | Ry weie s B 1
3|Which instrument is used to measure heat? Calorie meter Thermometer Pyrometer Barometer TSHT Y A9 F AT &g 39T F Farlr #Hex oA f Hex eI Rees A 1
39T fRAT ST §?
4|What is the quantity of heat required to Joule Calorie British thermal unit | Centigrade heat unit |1 ITH 9= F 1°C JI9HT do § T e Fardr fafeer e eS| ST FAT S B 1
raise the temperature of 1 gram of water i
through 1°C is called? 3T FSAT T AT Y FIAT Fgd 82
5(What is the value for specific heat of water? 4 3 2 1 ol 7 RS FEAT T AT FT R 4 3 2 1 D 1
6{Which type heat is the heat absorbed or Latent heat Sensible heat Specific heat Latent heat of steam |fyg g &1 AT FY 36T 8 e o FSAT AT FSAT ferse FsAT TEH H Jed AT B 1
given off by a substance without changing
its physical state? geor foaT Ry uerd canr sraenfa fRar
ST & AT BIST AT 87
7|What is the bOIllng pOint of water in 212°F 180°F 112°F 100°F m W ﬂ- tI'I?ﬁ' T ﬁw (b0|||ng 212°F 180°F 112°F 100°F A 1
fahrenheit scale?
point) fhdaT graT g2
8|What is the freezing point of water in kelvin 373°K 313°K 303°K 273°K Ffeae Thet & IR &1 WIS wise Far 373°K 313°K 303°K 273°K D 1
scale (K)?
g 82
9|Convert 45°C (Centigl’ade) into °F 110°F 111°F 112°F 113°F 45°C (@a?jg-) aﬂ- °E (qﬂmst) ﬁ- 110°F 111°F 112°F 113°F D 1
(Fahrenheit).
aftafda ¥ |
10|At what temperature will Fahrenheit and -38°C -39°C -40°C -41°C T aAE | BRAEET 3R dE 38°C -39°C -40°C _41°C C 1
centigrade thermometers give the same
reading? YA AT {fFer g g2
11|Convert - 273°C (Centigl‘ade) into kelvin 0°K 1°K 2°K 3°K - 273°C (mg) a,ﬁ- a’ﬁ?‘%ﬁ W ﬂ- 0°K 1°K 2°K 3°K A 1
scale?
afafda ¥
12|What is the value in degl’ee Centigrade for -6.37°C -6.47°C -6.57°C -6.67°C 20°F T HIT %gﬂ- m—sr ﬂ- FIqT 65"—_" %—4) -6.37°C -6.47°C -6.57°C -6.67°C D 1

20°F?




13

What is the maximum temperature that can

400°C

300°C

200°C

100°C

ar 3fRFdA dA S ARF gATHR 400°C 300°C 200°C 100°C
be measured by mercury thermometer?
SART ATIT ST Fehel 872
14|What is the name of temperature Vapour pressure Bimetalic Radiation pyrometer Thermoelectric ATTHT AT & IUFOT FT AT FT &2 IR-NR gAY |a-RRE grEe| R g JrfsaFes
measuring instrument? thermometer thermometer pyrometer h
qIEHIEY
é
a
:
15(Which instrument is used to measure Radiation pyrometer Thermoelectric Bimetal thermometer | Alcohol thermometer 30000 c a% orer T m—qr}ﬁ ¥ J9AET FY IR IR rfsafFes TTS-Aead ATHR | Tedgd UHTHERR
temperatures of red hot metals up to pyrometer -
3000°C? A & AU fohy 3ueor &1 39T faRar qrsHET
ST 87
16|Which type of heat transmission takes Conduction Convection Radiation Reflection B YFR FT FSAT G107 HiTs g7 & FEFUT FeAdFT D LIGH NFHAFAT
place through physical contact?
HTEIH ¥ giar 87
17{Which kind of heat transmission takes Conduction Convection Radiation Reflection T YHR FT FSAT ROT 39T &7 3% FEFueT FAAFUT e AFarFereT
places by up-ward flow?
YaTg EaRT Bl 87
18|Which one is the radiation method of heat ~ [An iron rod is heated | Cold water goesto | On heating gases, | The heat from sun |y graor € YRAeET QAR F-ar &2 Teh ollg T IS A | Ol I A W | I I A (|G FEAT IARET
transmission? with one of its end | the bottom from top | heat transmitted to | travels through the 306 TR WA 3UST Ul 3W H | O, FSAT Pr {AX & AEIH T IET
and heat transmitted | while on heating the surroundings space T T Srar & | S i 3R 3mar & | arareRer # giar § FIAT &
to other end water IR g R d=
3CAT I AR
forar ST §
19|What is called if the length of the solid Linear expansion |Superficial expansion| Cubical expansion Area expansion IRy T TN W G T aFS Jodr &, T ga@rw gw RefArTer gar T R & T waR
expands when heated? i '
FIAT gl ST 6?
20|What is the change in length per unit Co-efficient of friction | Co-efficient of linear Co-efficient of Co-efficient of argAET & 9y R qa TS & gRadeT o7 T[T Y& gar zgwia? gw e gar | ol gEw ;,IUW
original length per degree rise in expansion superficial expansion | cubical expansion
temperature is called? FT FAT FHgl AT &7 3IUTi3§
21|{What is the unit of co-efficient of linear Number /°C Number /°C / meter Number /°C / mm Number /°C/cm  |yefrer ga EIUT'W & gHS FT 2 Number /°C Number /°C / Number /°C / mm | Number /°C / cm
expansion? length length length
meter length length length
22|What is term used for 2 x linear expansion? | Co-efficient of friction | Co-efficient of linear Co-efficient of Co-efficient of 2 x Y& 99X ¥ T g qse & gA@6T o7 gUTW W 8@ EIW gwR e yar | o= waw ;’IW

expansion

superficial expansion

cubical expansion

T Sirar 87

pelics




23|What is term called for 3 x linear Co-efficient of friction | Co-efficient of linear Co-efficient of Co-efficient of 3 x YT 99X ¥ T 5 qse & gA@6T o7 glm-'ra; &g @R '{IUTi"eF gR Rrfererer gar | oeiT gae UIUW
expansion? expansion superficial expansion | cubical expansion
[ERIRCIG [T
24|Whatis the co-efficient of linear expansion | 1.75 x 10/ °C 175x10°/°C 175x10°/°C 175x107/°C  |afy T 5 20°C T 100 #ex T A | 1.75 x 10/ °C | 1.75 x 10° / °C | 1.75 x 10° / °C | 1.75 x 107 / °C

of a rod if it is found to be 100 m long at
20°C and 100.14 m long at 100°C?

100°C WX 100.14 # o« 9T ST g, ar

3HPT TWY FER 0T AT 82

25|What is called for the amount of heat Sensible heat Latent heat Specific heat Mixing of heat |3ty garel & SIS gogaT & dTIA dfaeer FsaT [T FEAT 3 FsAr ZSAT T THSOT
required to raise the temperature of unit
mass of a substance through 1°C? 1°C se & TIT 3aegqes FSAT & AT
T AT Fgd 872
26|How much quantity of heat is required? 32750 KJ 32760 KJ 32770 KJ 32780 KJ frdely AT & FSAT 7 ’ITFAT B §72 32750 KJ 32760 KJ 32770 KJ 32780 KJ
m = 120 litres
t; =20°C m = 120 litres
t, = 85°C
S=42 t1 = 20°C
= KJ
Q= — t2 = 85°C
27|Calculate the amount of heat required to 128.25 Joules 125.28 Joules 128.26 Joules 126.28 Joules 20°C ¥ 35°C ¥ d% 85.5 ITH I &I 128.25 el 125.28 & 128.26 e 126.28 el
raise the temperature of 85.5 gm of sand
from 20°C to 35°C specific heat of sand = dYATT gl & o0 39 FSAT HT ATET
0.1.
&I 0T B
28|What is the specific heat of the material if 0.1 0.01 11 111 meRTe 1 RAfse Fwar #7441 &, I 50°C 0.1 0.01 1.1 1.11
we require 510 calories to raise the '
temperature of 170 gm of material from ¥ 80°C deh dIYHAT el & folv 510
50°C to 80°C?
HARY FHI HTaRISHAT gl 8?2
29|How much quantity of heat is required to 138 Kcal 1.38 Kcal 207 Kcal 2.07 Kcal Kcal & 25°C & 75°C g% 300 ITH dia 138 Kcal 1.38 Kcal 207 Kcal 2.07 Kcal
raise the temperature of 300 grams of
copper (sp.heat 0.092 cal/gram) from 25°C & dI9HATT H del & fow fordey #AEr &
to 75°C in Kcal?
AT FT 3MEIFHr gt g2 (RAftse
3SH10.092 cal/gram &)
30{How much heat is absorbed by a copper 1521 Kcal 1251 Kcal 1152 Kcal 1215 Kcal BT & 3297 ¥ 400 FFelland gofeT arer 1521 Kcal 1251 Kcal 1152 Kcal 1215 Kcal
ingot weighing 400 Kg is heated from 40°C
to 72°C for the purpose of forging? (sp.heat I & s & 40° 33 @ 72° f2aft
of copper is 0.09)
afcaay d& T e W hder aa
HIAMTIT grar g2 (dleT T I H1eT 0.09 §)
31|What is called for the materials that Conductors Insulators Ferrous Non-ferrous 3o AR I FAT Fgd & S WA FaFey g e 3l

restricts heat flow by radiation, conduction
and convection?

FHSFAA R FHoldFeleT GIRT FSAT F Ydig
& gfaefad ad 87




32|Which one is heat insulator? Thermocole Copper Brass Aluminium =T FlT-aT ST dew L2 orafarer araT ST e AT
33|Which one has the highest thermal Solid ice Melting ice Water Steam s FSAT TToIhdT TAEE B &2 3T I% Raardr g% iy arsq
conductivity?
34|Which one of the following is not a property Low conductivity Resistance to fire Less moisture Ductility FEARYE FERTT T 318 F Flag-ar apor FH AT TIT & SR FH 5T gAY g=ar
of heat insulating material? absorption
el g7
35|Which insulating material is most widely Thermocole Polyurethane Glass wool Cork sheet TRSeT & cOas €9 ¢ 394097 T o orafaTer mmﬂ T g F5 o
used in refrigerators?
arerm HARIS FlA-aT 82
36|Which one is a poor heat insulator? Glass Cork Rubber Saw dust =T q PA-AT TH W FEARF §? FrT Fi& @Y ot =&
37|What is known for the temperature at which Boiling point Melting point Latent heat of fusion Latent heat of T JHET | A 3, g F Reear &2 FFUAE To=iF ST T aea FSA] arsdeoT & ed
any solid melts into liquid? vaporisation ' ’
3CAT
38|What is the meltlng pOint of aluminium? 660°C 680°C 670°C 620°C Wﬁﬁ—qﬂ- T aa-m FIT m %t) 660°C 680°C 670°C 620°C
39|What is the bOl“ng pOint of aluminium? 1897°C 2519°C 2469°C 660°C Wﬁﬁ—qﬂ- T W FqT t_ﬂ?lT %') 1897°C 2519°C 2469°C 660°C
40(What is the bOl“ng pOint of water? 0°C 32°C 100°C 212°C q—l?n- FT W FIT 33'?"- %-r) 0°C 32°C 100°C 212°C
41(What is the meltlng pOint of merCUry? -357°C -209°C -7.1°C -38.72°C mﬁ- (q-l—l-) FT W FIT 63'?"- %.,) -357°C -209°C -7.1°C -38.72°C
42(What is the bOl“ng pOint of merCUry? 357°C 280°C 759°C 767°C mﬁ- (q-l—l-) FT W FT aaT %.,) 357°C 280°C 759°C 767°C
43(What is the ratio of force (or) thrust per unit Work Power Pressure Energy FoT (AT ¥FT) IR =S AT F 3T Fr FF T arT ST
area?
FT HEd 82
44|\What is the equivalent pascal value for 1 10° pascal 10’ pascal 10° pascal 10° pascal U R H AT UEhel Al FAT g &2 10° UrEae 107 9rEaet 10° urEaet 10° e
bar?
45(What is the Sl unit of pressure? Joule Pascal Bar Newton TS Y THIE, SHS FAT &2 Sl qrEFHd IR e




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 7 - Basic Electricity

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1|Which machine converts mechanical energy Battery Generator Heater Iron box Flea-dr 7T T=F FT S ﬁa?ga ST Fer ST fiex AT FT FFAT B 1
into electrical energy? N
# gftafda & &2
2|Which is the unit of current? Ampere Volt Ohm Watt URT T FHFS FAT E? UT=rirs e N ae A 1
3|Which is the unit of resistance? Ampere Volt Ohm Watt gferYer 7 s FT ¥ TS Ly aree 3N ae C 1
4{What is the flow of electrons in any Voltage Current Resistance Power ey deFex F ST FT 4T FAT @l areesT T R afea B 1
conductor? h
g2
5(Which property of a substance is opposing Current Voltage Resistance EMF 9a1 & PO aor ¥ HROUT T8 ﬁa?ga ¥ T drees giaRer SuATH Cc 1
the flow of electric current? -
gaTg T faRer sar &7
6[Which is very good conductor? Copper Castiron Wrought iron Steel Fl-ar Tga 3ol FEFey aiaT FES AT e 3maeT =t A 1
7(Which is mineral insulator? Glass Quartz Mica Porcelain Fla-ar @fdsr ngﬁET » FrT FaTésT AT Qe C 1
8|What is the total resistance if three 11 ohms 7 ohm 17 ohms 1/17 ohms afe 3 3MH, 9 3N I 5 NH F A 11 30 7 3 17 3MH 117 3 C 1
resistances of 3 ohms, 9 ohms and 5 ohms ’
are connected in series? gfarrer 9T & S 9T Fo gfaer
FT I g7
9|What is the total resistance if two resgtances >4 24 10 10 4 3 3R 6 3N & & gfa|er @y 24 24 10 10 B 1
of 4 ohms and 6 ohms are connected in = = - - = -
parallel? 10 10 24 2.4 TAR & Sisa W For gfaier 10 10 24 2.4
grar 87
10|What is the total resistance if three 24 13 24 13 4 3NA 6 T IR S A F DT 24 13 24 13 C 2
resistances of 4 ohms, 6 ohms and 8 ohms — — - i
respectively are connected in parallel? 13 24 SfeRIYr & AR F S5t | Fof 13 24
gfaQer a7 gar 82
11|Which is same in series connection of Current Voltage Resistance Power FT gfde & gt 1 99 39T T areesT giaRer T A 1
resistors in a circuit?
H AT g g7
12|Which law states that at constant Ohm's law Lenz's law Newton's law Hooke's law 3N Fr O et T e T & T pe §F & Tt A 1

termperature the current passing through a
closed circuit is directly proportional to the
potential difference and inversely proportional
to the resistance?




13|What is the resistance? 13 ohms 23 ohms 33 ohms 43 ohms IR I, 13 3H 23 3 33 3MH 43 3NF
I =11.5 Amps I =11.5 Amps
V =380 Volts V =380 Volts
R= Ohms R= Ohms
N
i o
o b4
380v g
8
s
14|What is the current? 4.1 Amps 4.2 Amps 4.3 Amps 4.4 Amps aRT FT &2 4.1 TR 4.2 PRI 4.3 TTRGEY 4.4 TfRqER
R =50 Ohms
220 Volts R = 50 Ohms
I = Amps
V = 220 Volts
| = Amps
g
g
3
15|What is the voltage? 100 Volts 105 Volts 108 Volts 110 Volts AreesT FaT §2 100 dreeq 105 drecq 108 drecq 110 drecq
R =250 Ohms b N b N
| =0.44 Amps R = 250 Ohms
V= Volts
| = 0.44 Amps
\\\\\\i///// V = Volts
VOLTAGE H
° 8
3
16|Which statement is correct according to | oc 1/V lcR | c VIR | c RIV NSRS AR FlA-AT FUT TET TR | uR | g VIR | u RV
ohm's law?
g7
17|What is the filament resistance if a 6 volt bulb 120 100 3Q 1.2Q I T 6 dlec & god 0.5 TPRR ORT 12 W 10 W 3 W 1.2 W
draws a current of 0.5 Amps?
R TgoIdT &, ar e &1 ufaRer a7 8§72
18|How much watt second in 1 watt hour? 1000 watt sec 2000 watt sec 3600 watt sec 4000 watt sec 1 arc gue & fhder alc s BT 2 1000 dTc JavE 2000 arc JFUE 3600 dc JFUE 4000 drc qHUS
19(What is the power if an emf of one volt 1 watt 1 kilowatt 1HP 1 Kilowatt hour IR T dlec F STATE, 1 TRRR e 1 are 1 Bralare 1 Tgdy 1 fdare guer

causes a current flow of Lampere?

% YdIg H HRUT FeIdl &, df AfFd (TTR)

FIT §?




20

Which is equal to electric power?

R?| watts

I’R watts

R?| watts

I’R watts

2 2 A7 @ FA7 faggd AfFd (draR) & SE 2 2
— watts — watts — watts — watts
[ R gl 82 I R
21|How much power does it consumes if an 2000 watts 2010 watts 2020 watts 2030 watts Iy TE SAFCE X 10 TERR F 2000 watts 2010 watts 2020 watts 2030 watts
electric heater draws a current of 10 amps at )
200 volts? Fe, 200 diee W frdelr AP (reR) Hr
U g 872
22|What is the resistance of an electric iron if the 94.8 ohms 95.8 ohms 96.8 ohms 97.8 ohms Iy T SAfFCE IR @ IR 220 94.8 3NH 95.8 WH 96.8 3H 97.8 A
rating of electric iron is 220 V and 500 watts? -
dree 31X 500 arcd g, ar 3T gfay
fehcter grem?
23|What is the voltage of the immersion heater? 200.3 volts 210.3 volts 220.3 volts 230.3 volts ST EIeX FT dleesT FAT gIeT? = 200.3 dlec 210.3 drec 220.3 drec 230.3 dlee
P =500 watts
| =2.27 Amps = 500 watts
V= Volts
| = 2.27 Amps
V= Volts
g
H
H
24(What is the unit of intensity of magnetic field? whb/m m/wb Hertz Coloumb W &7 i degar i gfae F1r 2 wb/m m/wb Hertz Coloumb
25(Which law states about electromagnetic Ohm's law Hooke's law Lenz's law Faraday's law FlA-T7 A soacTRS g & A FT A gF & aH o Fr EHE W2 T e
induction? -
IR H FdTar &2
26|What is the formual for induced emf? B2L sin0 volts BL sin® volts BLV sinod volts B2V sin® volts

$3YSS SUATH & foT T g7

B2L sing volts

BL sinqg volts

BLV sing volts

B2V sing volts

27

What does EMF stands for?

Electro Motive Force

Electronic Magnetic Electro Magnetic | Electromated Force STATE ¥ FT daead ¥ ST ATRE | soaer AT B | sdwe ARE BY|  soedes B
Force Force - h - h
P
28|Which is the example for statically induced Generator Motor Transformer Refrigerator AT o1 33?1?5' SUAUS & 30T Fiet- AT AT THRTHT Wranex
emf? N -
ar g?
29|Which is the example for dynamicallly Motor Generator Car Motor bike SATETET 3'3'{?5' SUATE & 3ETRIT Hex T FIT AeX T=F
induced Emf? N
HiT-ar §7?
30|Which is the unit electrical power? Volts Ohms Watts Ampere =AfFed T A ?{ﬁ'c’ FT &2 arec A arex PR




31

What is the current Flow in the bulb?

2 Amps

3 Amps

4 Amps 5 Amps Sod # YRT & JaTg fhdeT §2 2 TR 3 TR 4 wfER 5 TR
P =550 watts
R =22 Ohms R = 550 Ohms
| = Amps
V = 22 Volts
\\\\//// l=__ Amps
NSNS
2
S
32|What is the power required? 98.2 watts 99.2 watts 100.2 watts 101.2 watts ey 91X @ ILTFRAT &7 98.2 4aIc 99.2 g 100.2 gIe 101.2 g
| = 0.455 Amps
R =484 Ohms | = 0.455 Amps
P= Watts
R = 484 Ohms
P = watts
g
]
g
33|What is the rated power if an adjustable 9.2 watts 9.4 watts 9.6 watts 9.8 watts I TearEeed oY & Refatag 9.2 watts 9.4 watts 9.6 watts 9.8 watts
resistor bears the following label 1.5 k ohms/
0.08A? Ade g, dr 3HHT WS gl AT g
34[How much voltage will be required to 390 volts 395 volts 400 volts 405 volts TH 40 a1 & T 957 SifF wie 390 e 395 drec 400 dree 405 aree
illuminate a 40 watts fluorescent lamp draws
a current of 0.10 amperes? AT &, O 30 TERET A & AT
e dree Y 3TaeTHar g &7
35|How many hours will take for a 100 watts bulb 10 hours 12 hours 18 hours 24 hours TS 100 dIC & Sod &7 1 kwh 37 @uda 10 gue 12 gue 18 gue 24 gue

to consume 1 kwh energy?

W =1 Kwh
P =100 Watts
t= Hours

WSGN2Z516ZAQ35

F & fov fobasr gue & 3maTendar
Il 872




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 8 - Mensuration

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1 \{\éhat '75 the area of a square whose side is 26 cm” 36 cm” 72 cm? 324 cm? U qet T et 18 WA ¥, 3HH S 26 cm? 36 cm? 72 cm? 324 cm? b 1
cm?
T gram?
2(What is Fhe pliagonal of a square plate 39.29 cm 39.39 cm 39.49 cm 39.59 cm TF FIFT AT Y $oT 28 A § 3T 39.29 cm 39.39 cm 39.49 cm 39.59 cm D 1
whose side is 28 cm?
T farctetr grem?
3|What is the side of a square whose area is 15 mm 20 mm 25 mm 30 mm wF g & ST T 21l TorgeT 9% 625 15 mm 20 mm 25 mm 30 mm C 1
625 mm??
e &2
4{What is the perimeter of a rectangle whose 56 cm 66 cm 76 cm 86 cm TF T FT IRATOT FAT @9, DT TS 56 cm 66 cm 76 cm 86 cm C 1
length and breadth are 20 cm and 18 cm?
g =iz 20 ¥ g 18 A &2
5|What is the area of a rectangle, whose 75 cm? 80 cm? 85 cm? 90 cm? TS AT FT STl FAT @91, FoTRT oS 75 cm? 80 cm? 85 cm? 90 cm? B 1
length and breadth are 10cm and 8cm
respectively? ug dizg sAA: 10 A, v 8 FaAr g7
6|What is the formula for area of A=bxh FAAER S R — A 1
arallelogram? 1 b+h 1 1 TS & T TR A=bxh 1 b+h 1 1
p gram’ A==xbxh A= A== x=xh A =—xbxh A= A== x=xh
2 2 2 b 2 2 2 b
7 Whgt is the area of a right ar.lgled triangle 20 sg.cm 25 sg.cm 30 sg.cm 35 sg.cm TH GHPOT ﬁgia T 8Tl FAT I, 20 sg.cm 25 sg.cm 30 sg.cm 35 sg.cm B 2
having a base 10 cm and height 5 cm?
ST 3myR 10 A7, gar Fuis 5 A B2
8 Whgt is Fhe primeter of scalene. Triangle 68 mm 78 mm 88 mm 98 mm 37 m\—ﬂ PIOT FT GRATT FAT g1, 68 mm 78 mm 88 mm 98 mm C 1
having sides of 40mm, 20mm and 28mm?
orgehr ofom3it 1 &9 40 AT, 20 AT T
28 AT 87
|yhat s the area of an equiateral triangle 856.82 cm” 866.82 cm” 876.82 cm’ 886.82cm° 450 el 1 syoT ATl THATg S A 856.82 cm? 866.82 cm? 876.82 cm’ 886.82 cm* | © | 2
&Tthel T GIaM?
10|What is the area of a circle of diameter 50 1932.5 cm’ 1942.5 cm? 1952.5 cm’ 19625cm’ |50 ¥, AT AT Gecd FT AYAHS FAT QT2 1932.5 cm? 1942.5 cm? 1952.5 cm’ 1962.5 cm’ D 2
cm?
1 \é\./h‘f’“ izsothe a(g*)i of a (A) semicircle whose 147.1 cm? 157.1 cm? 167.1 cm? 177.1cm’ Teh ISl T &A%l FAT grem, foraent 147.1 cm? 157.1 cm? 167.1 cm? 177.1 cm? s 2
ia is 20 cm (d)~
| 20 TAL. 87




12\What s the cross sectional area of a 320 mm? 330 mm? 340 mm’ 350 mm? TF TMAFER Tod FT HIA-QaTel ST6T 320 mm? 330 mm? 340 mm® 350 mm®
circular ring of D =38 mm d = 32mm?
F1 819, fSger D = 38 mm d = 32mm?
g
13|What is the area of a sector of a circle of 20.39 cm? 20.93 cm? 20.89 cm? 20.98 cm? 39 ged & YaeT FT SFGA FAT T, orae 20.39 cm? 20.93 cm? 20.89 cm? 20.98 cm?

radius 5 cm and its angle is 96°?

sar 5 Q. U9 HoT 96° §?

14

What is the formula for area and perimeter

3 x V3/4 a® unit®

4 x \3/4 a% unit® 4a

5 x V3/4 a® unit®

6 x V3/4 a? unit?

Teh SIS & STl Td IRAT & FA F47

3 x 03/4 a% unit?

4 x 03/4 a2 unit?

5 x 03/4 a? unit®

6 x 03/4 a% unit®

of a hexagon? 3a unit unit 5a unit 6a unit .
g2 3a unit 4a unit 5a unit 6a unit
15(What i_s the area of an ellipse if the major 27 cm? 37 cm? 47 cm? 57 cm? TF USTHR & SThel FT 21T, TorE 27 cm?2 37 cm? 47 cm? 57 cm?
and minor axes are 5 cm and 3 cm
respectively? ASK UG HATSA] 38T el 5 TAL TT 3
a. g2
16 F_igd _th‘zst‘)ta' surface area of cube whose 3740 cm’ 3745 cm? 3750 cm” 3755 cm” 38 O T q07 SO SThe A Y, g 3740 cm? 3745 cm? 3750 cm? 3755 cm?
side is 25 cm.
ST 25 | B2
17|Find the total surface area of a cast iron 1340 m? 1440 m? 1540 m? 1640 m* 3H FRC R HT BT 1 U7 [ET ST 1340 m? 1440 m? 1540 m? 1640 m?
bar whose length, width and height are
20m, 15m and 12m. AT Y, T oS, wigs Td S 20
M, 15 #r Tg 12 #r g7
18|What is the formula for total surface area of | 21 r (h + r) unit* T r (h +r) unit’ ™ rh unit? 21 rh unit* T fHevst & qof 8 s AT I FAT | 2z r (h + 1) unit? | xr (h + r) unit® = rh unit® 2n rh unit®
a cylinder?
g2
19(What is the volume _of a rectangular'tank of 5900 m° 6000 m® 6100 m° 6200 m° TS NTAHR ¥, THEdr wwers 30 A, 5900 m? 6000 m? 6100 m? 6200 m°
30 m length, 20m width and 10m height?
s 20 & vd Fas 10 AY §, & I3IdA
AT &2
20 Wh_at i; volume of the_ cylinder whose 1842 c.c 1844 c.c 1846 c.c 1848 c.c 30 AU &1 3T FT ¥, e e 1842 c.c 1844 c.c 1846 c.c 1848 c.c
radius is 7 cm and height 12 cm?
7 @Y. U9 FA1$ 12 I 87
21|\Whatis the volume of sphere of radius 7 1436 cm® 1463 cm’ 1346 cm’ 1636 cm’ 7 Q0. BT are A IS AT Q2 1436 cm’ 1463 cm’ 1346 cm’ 1636 cm’

cm?

22

What is the formula for finding volume of a
hollow cylinder having outer radius 'R' inner
radius 'r' and height 'h'?

m (R? - r®) h unit®

/3 (R? - r%) h unit®

2/3 1(R? - r®) h unit®

4/3 1 (R? - Hh unit®

T Raa Revst Sadr sl B R,
3ewell BT 1 U9 35 'h' §, 39T
AT AT A & T gF F:4a1 g?

n (R - r®) h unit®

3 (R?-r%) h

unit®

2/3 o(R* - r*) h

unit®

4/3 n (R? - Hh

unit®




23

What is the capacity of a conical tank of
radius 2 m and height 5m?

11m

21m

31lm

41m

Ueh Sifihel &b &7 &THT Fa7 &, g
Bsar 2 & va Fas 5 A g2

11 m?

21 m?

31 m?

41 m®

24

How many liters of water a cylindrical tank
of radius 75 cm and height 100 cm can
hold?

1766.25 liters

1767.25 liters

1768.25 liters

1769.25 liters

75 Q. 1 BFsar vg 100 A Fr TS
el Teh SR & fohdar U=l @ Gl
&2

1766.25 liters

1767.25 liters

1768.25 liters

1769.25 liters

25|What is the total surface area of a cylinder 86 sg.metre 88 sg.metre 90 sg.metre 92 sqg.metre 39 AAUST & qUT qSET &l F4T § 86 sq.metre 88 sg.metre 90 sg.metre 92 sg.metre
having radius 2 metres and height 5 '
metres? St Bsar 2 & 3R Fas 5 & &2
26|Find the curved surface area of a cylinder 620 cm? 628 cm? 630 cm? 638 cm? fEAUST &1 GAEER Fag TR AT &Y, 620 cm? 628 cm? 630 cm? 638 cm?
10 cm dia and 20 cm height?
fSraedht fsar 10 . va S 20 @ B2
27|What is the name of the object? Triangular prism [ Frustum of a pyramid| Frustum of a cone Hexagonal prism = 3ifsorac T AT FT &2 Bt EICale s AT & T FT el ST ReH
A {Grocy

e/ \p D =BASEDIA
S—
d =UPPER DA
~ 1 =SLANT HEIGHT
h =VERTICAL HEIGHT
Ay=TOP AREA (%)

A, =BASE AREA ( TIRZ )

B 5 c

WECN220812Q27




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 9 - Levers and Simple Machines

Question OPT A OPTB OPT C OPTD Question OPTA OPTB OPTC OPTD Ans | Level

What is the ratio between the distance Mechanical Velocity ratio Efficiency Fulcrum GATE EaRT I a;fr U9 ¥R SaRT a9 &7 | AT vsawes Fanfadr YR wRpfartT FoTFH B 1
moved by the effort to the distance moved by advantage N N
the load? IS & F; T Heurd &
What is the ratio of mechanical advantage to Load Effort Efficiency Power T HIYROT AN & AT 39T H ATAh e - SRR qra] C 1
the velocity ratio of a simple machine? ST &l ] ITd T g7
What is the mechanical advantage, if a load 6 8 3 4 fe T 1000 THIAT. F HIT TH LT 6 8 3 4 D 1
of 1000 kg is lifted by a simple machine and
effort applied is 250 kg? AMA S@RT 38T ST g 3R 250 fRam.

FT YA (SeT) ST 31T, df Hhfasder

o e -

What is the velocity ratio of a wheel and axle 3 4 5 6 YT Ud TFHS &l qda1 g9 FAT g 3 4 5 6 Cc 1
if the radii of wheel and axle are 375 mm and '
75 mm respectively? Ife e vd vFHe H AT weAer: 375

e 7 75 AT 82
What is the velocity ratio of a simple machine 1 2 3 4 TF GrRoT 7T g g 120 1 2 3 4 C 2
of a mass 120 kg is lifted to a height of 5
metres by a force of 60 kg moving 15 metre. el &, 38 60 fRIT & §of aRT 5
Calculate velocity ratio? . )

. fr Fag d% 3err 3R 15 ;A qw &

& T | HAMT HT AT AT ATLH

FU?
What is the efficiency of a simple screw jack 60% 65% 70% 75% TTUROT TR S i oRRRYEr FaT ¥ 60% 65% 70% 75% C 2
having velocity ratio is 314.2 and mechanical '
advantage is 2207 foreeT 997 31U 314.2 U9 Adfsher

TsaiesT 220 §?
How much load is lifted if an effort of 25 kg is 65 kg 70 kg 75 kg 80 kg TF GraRoT 7T rgeT 9T 3T 4 ¥ 65 kg 70 kg 75 kg 80 kg C 2
applied to a simple machine having velocity
ratio of 4 and efficiency 75%7? ug URTANAT 75% g, afg 25 TR, &

ol ST AT, dr fhaer #R 3srr S

HhdTl 82
What is the name of fixed or supporting point Mechanical Fulcrum Effort Load AR & freg v TR waiEe & AR DAFe TEa=ST FAFH TRE o B 1
of a lever? advantage

AT 82
What effort required to lift a load of 150 kg in 70 kg 80 kg 90 kg 100 kg 8T Ud TFdeT H 150 R, &1 #3007 70 kg 80 kg 90 kg 100 kg B 2

a wheel and axle, if the velocity ratio is 2.5
and the efficiency of the machine is 75%?

& AU farae g @ifeu, afg o1 3qura
2.5 8 ugd 7T Fr vfpfddr 75% &?




10|What is called for the distance of the load Effort arm Load arm Power arm Effort ForHH A5 #T g ¥ T F4T FaT THE 3T Az 3 qraT 3TH THE
from the fulcrum?
ST 87
11|Which is example for first order lever? A wheel barrow A pair of scissors Fire tongs Lime squeezer HEE ST MR F AT Fla-ar 3gEor &2 TH FeT R T & tF 9T BRT =g ASH TFAOR
12|Which is example for second order lever? Common balance A pair of scissors Bottle opener Human forearm R 3i1ET NG 1 PlA-ar 3eor §2 FAT Yo g Ao F7 tF X g 3N9eT e PIITH
13|Which is example for third order lever? Common balance Forceps A pair of scissors Lime squeezer FT 31T N T FhT-AT R0 &2 FAT o g FRICH AT &7 T W ASH TFEOR
14|Which type of levers is bell cranked lever? Curved lever 1% order lever 2" order lever 3 order lever FA-T UPR FT AR, o7 g NaX g Fes AT 1% 3118 AR ond ST SAay 3" 3fET drax
g7
15|Which order lever is claw hammer? 1% order lever 2" 5rder lever 3 order lever Curved lever FT TAT FlA-TT ST T §2 1% 38T AR oM 3irsT faT 3" 3T ] Fes dMax

-
WSCN261815Q15




Name of the Trade - Workshop Calculation and Science - 1 Year NSQF - Module 10 - Trigonometry

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
- —
1|How many degrees is equal to one radian? e 360 ° —_ 180 © U Bl Rrder IRTT F R BT &2 e 360 ° —_ 180 ° D 1
360 w 180 ™ 360 n 180 n
2|Which is equal to sin6? . . i A 1
ich is equal to si Opposite side Hypotenuse Adjacent side Hypotenuse sin 8 & STET grar 82 faadra sgamarot Fol/faadra o HTHe=T HSHOT T/ HeT ST
Hypotenuse Opposite side Hypotenuse Adjacent side
3 i ? B 1
What is equal to cosf Hypotenuse Adjacent side Opposite side Hypotenuse |cos fheeh sRTaR gIem &7 FHUT/IT AT 3T AT HSAWHOT faadra gameot Fo/falid o
Adjacent side Hypotenuse Hypotenuse Opposite side
4|What is equal to tan6? Opposite side Adjacent side Opposite side Adjacent side tand fFa% sRER gIar &7 IEREG] SjaT/EFU‘r 3THesT 3i\_T|T/EFU‘f ICEEG] A3 ool | 3THeoT SiGiT/ﬁq'ﬁH c t
Hypotenuse Hypotenuse Adjacentside Opposite side ot i
5|What is the value of tan6 if sin = 4/5 ? i E 3 4 tand T AT FIT M, I sin 0 = 4 E 3 4 D 2
5 4 3 4/5 Rl 5 3 4 3
6(What is the value of 0 if sin@ = \/3/2 ? 30° 45° 60° 90° 0 T AT FIT ag-n-, a—h— sin 0 = \/3/2 30° 45° 60° 90° C 1
J
7|What is the value of tan 45° if sin 45° = 1 3 1 1 tan 45° RraeT @M, IR sin 45° = 1 V3 1 1 c 2
122 2 2 V3 V2 2 J3
1N2 gl
8|What is the value of sin 30° if cos 30° = J3 1 1 1 sin 30° T AT Rra=AT g9, I cos J3 1 1 1 B 2
? — = - — ' = = — —
\3/2 > 2 J3 2 2 2 V3 V2
30° = 32
9what is 1 + cot’9? sec’® cosec’d cot’0 tan’0 1 + cot?0 fraeT gm? sec’q cosec’q cot’q tan’q B 1
10|What is the height of the wall where the 4.13m 4.23m 4.33m 443 m T WE o aEas 2.5 Aew 413 m 423 m 433 m 4.43 m C 2

ladder touches the wall if the ladder is 2.5

m long makes an angle of 60° with the
ground?

WSCN21001Q10

AR & Ay A W 60° & HIoT
FAT T WS Bl §ar f I AT
|




11|{What is the height of AC? 1.732m 17.32m 173.2m 1732 m AC &1 Sars F7 ¥ 1.732 m 17.32 m 173.2 m 1732 m
c
&
A o B g
100 \ §
12|(What is the height of the building if a 15m 16 m 17m 18 m HaeT T FaS AT FY, AT TE LD 15 m 16 m 17 m 18 m
ladder at 45° touches the building placed ' '
16 m from the base of the building? SR I 45° FT HUT J AdT T 16
;. gt W TS §
13|What is the angle of elevation of the top of 30° 45° 60° 90° ofedes T AT HY, AR TF " 30° 45° 60° 90°
a light house of 15 m height seen at a ’
point 15 m away from the base? g3y forgdr 3ar$ 15 A g 3maR &
g 15 A1 Bl
15m o
g
15m §
14|What is the angle of 6? 30° 45° 60° 90° 0 aﬁ-UT ﬁﬁm m’) 30° 45° 60° 90°
100 [3m s
g
[ 5
100m Q
:
15(What is the term for the object seen Angle of inclination Angle of friction Angle of elevation | Angle of depression |yxr &y Ide ¥ IR @ F T FAT S H FIoT TSOT FT FIOT IesTde AT IGTHT 0T

higher than eye level?

T E?




